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5 ans UNHSIV.-01
5 z i
1. Which one of the following separates Tasmania | 1. ﬁﬂmﬁﬂ'ﬁ-ﬂq-mﬁﬁﬂlﬁm = e

from Australia ? AATFEATE ?

(a) Great Austrilian Bight (a) e Ifoem A

(b) Bass Strait ¢ 2 o

(c) Magellan Strat (o) =T .

(d) Tasman Seac} (c) e Serat-a —
P (d) TEIH ER 5,%5_5

2. Consider the following statements with reference 2

to world population :

I.  Brazil has the highest population among the
South American countries.

Il.  Asia continent has the highest growth rate of
population.

II. Africa is the most densely populated
continent e world.

Which of the a@e statements is/are correct ?
(a) Both I andIl

(b) Only Il ﬁ

(c) BothIand Il

(d) OnlyI =52

Which one of the following pairs is not correctly | 3.

matched ? ‘
(Plantation Crop)  (Name of Country)

(a) Coffee - Uzbekistan

(b) Rubber %— Malaysia
© :

(¢) Tea < Sri Lanka
w ;Y

(d) Cocoa =j—  Nigeria
[

Which of the following commodity has the | 4,

greatest share of Indian exports ?
(a) Agricultural products

(b) Mineral ores

(¢) Handicrafts

(d) Engineering goods

fiva SEE ¥ wod # Frefefad FuA © faEn

Eﬁﬁl‘t{: :

L wrefier eRoft omRdh 2w ¥ wew v
SO @ e |

n. R wEEl Sewaw sAEe JfE &

@R
ML 37erT farva <1 waifires @ | HeTa ¢ |
I A A FR-AA w2
(a) I IIIETr
by FaA I
(c) I3RIaHt
(d) FaAI
Frafafaa ot & ¥ F9-a1 o ad e 7 2 2
(@ BEe) (@97 T 71)
(a) <FeaT (k) —-  FfeEe
) @ - HofyEm
(c) = - CISED

(d) Frwrer (FE) - ATESHRET

frefafaa & & few awg = fean vl Frafa
waifw g 2

@ FiT 3=

(b) GRS s

(c) w=fRg

(d) Sfafor & amm
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Which one of the following pairs (Folk dance —
Place of Origin) is nor correctly matched ?

(@) Yakshagana — Rajasthan

(b) Kaikottikal — Kerala

(¢) Koli — Maharashtra

(d) Himachali - Kully Valley

Deficiency of which of the following elements

causes yellowing and poor growth of the plants ?
(a) Boron

(b) Phosphorus
(¢) Calcium
(d) Nitrogen

Match List-I with List-Il and choose the correct
answer using the codes given below :

List-1 List-IT
(Buddhist text) (Content)
A. Vinaya Pitaka i. Regional histories of
Buddhism
B. Sutta Pitaka ii. Buddha’s teachings

C. Abhidhamma iii. Rules for those joining

Pitaka the Buddhist monastic
order
D. Mahavamsa iv. Philosophical matters
Pitaka
Codes :

(@) A-iii, B-ii, C-iv, D-i
(b) A-iv, B-iii, C-i, D-ii
(c) A-iii, B-iv, C-ii, D-i
(d) A-iii, B-iv, C-i, D-ii

RE
0]

Which of the following is nor a Rabi pulse crop ?
(a) French bean

(b) Chickpea

(c) Green gram

(d) Lenul

ﬁnﬁ-lﬁaaii%aﬂq-mg-q(a’n; — Ieafer
aﬂ'{

) W e o R
(a) AT =qrorear
(b) e e

(c) hreft - ey
(d) f?ﬂﬁ?ﬁ\ﬁmﬁ
Frerferfera 2 & fra o et 35 aprooy iy &
ST & aun I gfg Fr A s 2 0
(a) =T
(b) STERRE
(c) Ffcyam
(B IS 252
1 g & R A st A ey
mmmi@mgﬁq:
g1 \O -1
(e 7, ()
A. foma e i. g ud & el
3fersrar
B. §dfaes ii. & ot favamd
C. s il Nersdmass
aret & fere frag
D. weEy fUew iv. i amEer
& I~

(8 A-iii, Ry, C-iv, D-i
(b) A-iv, EE'EI, C-i, D-ii
«©) A-iii, BJv, C-ii, D-i
(@ A-iii, B-Iv, C-i, D-ii

frafafea & @ FR-d oF @t A e wae T@7T
22

() 8w el OF )

(b) =M

(c) ¥

(d) WL
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9.  Ashish leaves his house at 20 minutes to seven in | 9,  3Efiy §a® @@ o A g e ™ A W F
the moming and reaches Kunal's house in Foreperan & 37t 25 fire & Fomer & W ggdl 213
23 minwes. They finish theirbreakfast in another | g7y 15 forz 3 sreer e e e & K I
15 minutes at}d leave for theigpflice, which takes PN : SRS studad ¥ 35 fme otk
another 35 minutes to reach. ADwhat time do they ey . §
leave Kunal’s house to reach heir office ? o & | 3 A9 i qg?ﬁ & fore FUMA FoA
(a) 8:15AM (b) G20 AM fora g e 8 2
B 7240 A (@) Pr0 AM (a) Wi 8:15 (b) ¥H:7:20
’ - (c) 9rd: 7:45 (d) ra: 7:40
10. Find the missing number : 10. ga e s B |
% 5 5 S ]9Y4 7 18 13 14 19 4
1225 729 ? (995 — Y
(a) 641 (b) rs42 . )
b G @ ew o=
11. The final of the World Chess @ampionship 2024, | 11. fava viai AftgaRm 2024 T SIS FFTE Ty
was played between : < AT ar 2
(a) Ding Liren and D. Gukésk fir A ;
(b) Viswanathan Anand and D. Gukesh (a) A Eﬁh@?ﬁ' 2
(c) Magnus Carlsen and Vladimir Kramnik (®) & gas&_ I
(d) Ding Liren and Vladimir Kramnik (c) BT FTCTE T SASIHR
(d) T i w sEnfic swmfs
12. A family consists of six members P, Q,R, S, Tand | 12. UH9fan #s: 4s= P, Q, R, S, Ta¥T U & | 9f@w
U. There are two married couples. Q is a doctor 7 31 fqarfea S & | Q U S R i Tl T 24
and the father of T. U is the grandfather of R and U, R #1201 2 3 a8 U S¥an 21 S, T e &
is a contractor. S is the grandmgther of T and is a _ aﬂ’ta'a'qa: Reoft & | qRaw & o < ’ ;
housewife. There is one do&tbr, one contractor, ot & 3 SR, U '
one nurse, one housewife an o students in the ;:; , T Tfeoft Tum <1 o & | Frefofe F @
family. Which of the followgyg is definitely a a1 e w0 @ qew wewi Fr g R 2
group of male members ? <} (@ U,T (b) Q U, T
@ U,T o guT © QU,P @ QU g5
(¢ QU,P d QU
13. Introducing Shyam, a lady said, “The father of his | 13. Y49 %1 uf=r 31 gY, T wfear 3 w1, T H

father-in-law is my father-in-law.” How is Shyam
related to the lady ?
(a) Father

(¢) Son-in-law

(b) Husband
(d) Son

5’/

T T ag € | T o 9w A @ w2 9
(a) fomm () f

() @mwE Jrg e

B35 7
S
[4
K
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14.  Which internationa| y . :
United Kingdom for 0&1 “hom was held in the | 14, 2025 3 weeft AT s T A s
featuring teams from India angs:tht;me 9 '2025' @ammwm'mwaﬂtmmaﬁ
: re
i (2) Badminton World Champianct: ouniries 2t 3 sy fern 2
: i pionship
(b)  Kabaddi World Cup (a) s oy Aftegafi
¢) Hock
Ed)) C;Zl:estr\tforid Cup e (b) ez fova
-‘. orld Cup 5& (c) Th =g . -
~ 15, The 2024 Nobel Prize i Physiol Med L ﬁ?aﬁmaﬁﬂm gé?
f : siology or Medicine | 15, 1i nfefim :ﬁﬁaw
. was z-lwardec_i to Victor Ambros and Gary Ruvkun i 7 i
for discovering : Ferre arsiter it vy e iy By i 35 e fear
a) M
EC; Tessenger RNA  (b) Ribosomal RNA e
ransfer RNA (d) Micro RNAs (a) aﬁﬂtm‘{‘@q @gmm
16 In which country w, . (¢) FRHT T (dy HTS3HT ST
it P as the world’s largest offshore 16. 37T 2024 ﬁgﬁma;m% AT
nd Iarm inaugurated in August 2024 ? B %ﬂ\a 'h---._..__l-a:l'_tE_rIs <l
Ea; (;fc_rmany (b) Denmark e Ahaali :
¢) Taiwan (d) United Kingdom Ea; g
17. In Marcl? 2025', NASA astronauts Butch Wilmore 17. = 2025 & * (-) N :
and Sunita Williams returned to Earth on board —— , AT & TRHE REl I'iil__.ﬂtilt TS gt
SpaceX’s spacecraft named : faferreg ﬁ‘?ﬁﬁw AT m%%ﬁm
(a) Challenger (b) Dragon “Eé ?
(¢) Columbia (d) Discovery (2) W %3@
() Hretfiamar (0 Feerartt
18. In the 2024 Paris Olympics, the men’s f; it S
57 kg wrestling event Bronze mcdal was “r::usgﬁ o MZOM W S %L%Eljﬁ i 3
(@) D.T.Cruz (b) Sarabjot Singh T IR 1 e e o s fa
(c) Akshdeep Singh (d) Aman Sehrawat TI)T? AN
a) SIS (b) TS fig
- (c) 3 firg e
19. India’s first manned deep ocean mission is | 19, wyg F e
B ; SR WS S 3 e # am
(¢) Varunayaan (d) DIVE India Aa) fammmfee (b) wYzIH
(c) = (ﬁgﬁag‘%m
20. Which city will host the 202
6 C =
oy ommonwealth | 20, é;)jl() & TS Qe w}m fFa e &
(a) Glasgow (b) Birmingham: ? N~
(¢) Hamilton (d) Melboumne (@) ;”“ f Qﬂ/afﬁ'—‘ﬂ
(c) efieen

(d) Tt
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21. Which of the following pairs (State — Name of the | 21. frefafaa ﬂ'“ﬁ T - e &7 & T 4
Coal field) is not correctly matched ? Fr-ar el gaferd E
(State) (Name of the Coal field) (<4) (T &7 FT 7TH)
(a) Odisha — Talcher (a) afesmr - dre=Et.
(b) Madhya Pradesh — Singareni (b) T YRy - AR
(c) Chhatlisga% — Korba (c) ofEmg — FNEr
d) MaharashtrD - &
(d) 2. Wardha Valley (d) wewrg - auieard Eﬁﬁ
22. Which of the @owing pairs is not correctly | 22. ﬁﬁﬁiﬁﬂﬂﬂ’ﬁﬁﬁﬂ*ﬁ@ﬂiﬁﬁa‘m?ﬁ%?
matched ?
P (a) qrPIRE - WoEA G
(@) Tuticorin — Fishing Harbour - 5
(b) Chennai Artifi 5l B e
1 - ificial Harb
_ ! ificial Harbour @ R A TR
(c) Kolkata — Deepest Harbour of qrareg
< India
- 9 (dJ /ﬁm\ = 'Q'ﬁ?ﬁﬁ-?thﬂ‘fw
(d) Visakhapatmnam - Natural Harbour
23. Match List-I with-List-Il and choose the correct | 23, et =t -1 & gifera diforg s = feg my e
answer using thé £bdes given below : T TN S GEl I AT - B
List-1 ;
_ -1
il st N s
Reserve) maﬂm}
A. Manas - i. Meghalaya
B. Similipal ii. Kerala
C. Agasthyamalai iii. Odisha
D. Nokrek iv. Assam
Codes : o FT:
=1
e san (Dl -
(a) A-ii, B-iii, Griv, D-i (@) A-ii, B-iii, C-iv, D-i

(b) A-i, B-ii, (1'-3;1 D-iv
(c) A-iv, B-iii, C-ii, D-i

(d) A-iv, B-ii, C-iii, D-i

(b) A-i, B-ii, C-iii, D-iv

() A-iv, B-iii, C-ii, D-i

(d) A-iv, B-ii, C-iii, D-i
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25.

26.

27.

28.

29.

30.

31

Padma Bhushan 2025 awardee for Science and

Engineering, Vinod Dham is known for his role in
the development of :

(a) The Pentium Chip (b) RISC Computing
(c) ZiLOG Processors (d) SPARC Systems

India’s Chandrayaan-3 made a soft landing on the

moon, making India the country to do
S0.

(a) Second (b) Third

(c) Fourth (d) None of the above

The Lok Sabha Elections 2024 were held in how
many phases ?

(a) 9 phases (b) 7 phases

(c) 8 phases (d) 6 phases

In 2025, how many individuals were honoured
with the ‘Padma Vibhushan’ award ?

(a) 6 ®) 5 (© 7 @ 4

Which one of the following is an Export
Processing Zone ?

(a) Bengaluru (b) Delhi

(¢) Kanpur (d) Falta SEZ

When was the ‘Zero Poverty Campaign’ started by
the Uttar Pradesh Government ?

(a) 26 January, 2025 (b) 2 October, 2024

(c) 26 January, 2024 (d) 15 August, 2024

What initiative did the Indian Government launch
to encourage climate-friendly lifestyle choices
among citizens ?

(a) Green India Mission

(b) Mission LiFE

(c) Swachh Bharat Abhiyan gg
(d) National Mission for Clean Ganga =™
Which one of the following has received the Major
Dhyan Chand Khel Ratna Award 2024 7

(a) Sukhjeet Singh

(b) Annu Rani

(c) Vantika Agrawal

(d) D. Gukesh

24, =¥ 2025 & g v gohfafon & & o @ A
T et e ot forers) ferarre i et sqfivehT o6

fore st st T~
@ Wemfmy () RiscEwE
(¢) ZiLOG A (d). SPARC urreft

25. WIRE % I3AM-3 T iz difen wa, Rrad
TR T Y e T
(a) facha ) g
() =g (d) v & & s 4E
26. Wi W A 2024 FRe it # @O @
T ?
(a) 9= (b) 7=or
() 8=R® (d) 6= &

27. qzozsﬁ,m;;ﬁaﬁﬁ*wﬁw'wﬁ

e R Tk

@6 ®»F @7 (@4
28. e & & gar frata woesor Rk &

27

(a) STeTE (b) feeeft

(¢) MR (d) FreeTas
29. I NI R G0 S e A0 w5 gwy

- Frrmar e

(a) 265al, 2025  (b) 2 3R, 2024

(c) 269al, 2024  (d) 15 37T, 2024
30. TR T X AR it e o Spysget e dieft

HH % fore forw e A e A1 2 2

—ay &fRa v

(b) ﬁm?rﬁmﬁf

(c) @@ Na hEH

(d) USg @ i fayE
31, frefafaa # @ frat s e @2 @ T [

2024 foram @ 2

(a) Fasfia fife

G-

(c) afeart stara

()
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32. Which of the following are water-soluble | 32. Wﬁﬂﬁ'ﬂmﬁwmg?
vitamins ? Pt (a) FrfECaRD
(a) Vitamins Cand D <t ) frzftm B3t D
(b) Vitamins B and D g ©r R B 3 C
¢) Vitamins B and C () e
ﬁd; Vitamins A and B T 5 (4 RafAsiRs
33. Given below are two Stalementsl:;ne islabelledas [33. = & @ fmw m ¥ frd ¥ TH A
Assenio&} (A) and other is labelled as FfrReA (A) T ZH F F10T (R) FRITATL |
Reason (R). B 5
Assertion (4) : Amphibians can tolerate mixing of AT (4) : LTI SHTFAFT T FAIFT T
oxygenated and deoxygenated blood. FREA R EEERA S|
Reason (R) : Amphibians are animals with two FN (R) - ITT 3T Fefg EE?TETR% aroft € |
chambered heart. 3 R o ST e R e T R -
Select the correct answer using the codes given WY ¢
below : ™ (a) W(A)mﬁ_ﬂmﬂ{)mgl
(a) Assertion (A) is false, but @son (R) is true. (b) T (A) 3R FTOT (R) AT A §, T
b) Both Assertion (A) and R n (R) are true, =TET
& but Reason (R) i(s rzat the degzct(e:planation o (R), AR (A) e o
of the Assertion (A). FATe |
(c) Assertion (A) is true, but Reason (R) is false. (c) 3Ry (A) T B, T T (R) Tea g |
(d) Both Assertion (A) and Reason (R) are true (d) SRR (A) 3 FT (R) 1T Te £ 3t
and Reason (R) is the correct explanation of
the Assertion (A). FIT (R), e (A) T T AT FAT
gl
34, Which of the following part of brain is known as | 34, Fre=rfaftga # & ufiass 1 =87 T o7 wia="
“little brain® ? P~ ma 2
(a) Medula (b) Cegebellum (a) W (b) TEET
(). Pees @ Crum (© d (d) Bm 25
(8]
35. ‘Knock-Knee' Syndrome rcs;?:s due to the|35. SimArfigm_ FucIHFROIEAILR |
pollution of ; (a) TEheH (b) wIRESH
(a) Phosphates (b) Fluorides © :"gi{q (@ v ETIQTH\T
(c) Nitrates (d) Heavy metals
36. Blood is a type of 36. T T WHR H R
(a) Connective tissue () WA Fas
(b) Muscular tissue (b) ufla Faw
(c) Nervous tissue (c) wifre o

(d) Epithelial tissue

(d) I9FHAT Fd=h
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Which among the following was mot one of those
states which were annexed 1o the British Empire
by Lord Dalhousie on the pretext of the ‘Doctrine
of Lapse’ ?

(a) Kamataka

(b) Nagpur

(¢) Jhansi

(d) Satara

Who was the Governor General and Viceroy of

India at the time of the formation of the Indian
National Congress ?

(a) Lord Curzon

(b) Lord Dufferin

(c) Lord Lansdowne

(d) Lord Ripon

Who presided over the first session of All India
Trade Union Congress at Bombay ?
(a) N.M. Joshi

(b) Lala Lajpat Rai

(c) B. Shiva Rao mo
(d) S.A.Dange - ﬁk
Who established the Central Hindu College in
Banaras, which later emerged as the focal poinf of
Banaras Hindu University ?

(@)
(b)
(©)
(d)

Swami Dayanand

Bal Gangadhar Tilak
Annie Besant

Madan Mohan Malviya

Where was the first session of the Indian National
Congress held ?

(a) Lahore

(b) Bombay

(c) Poona

(d) Calcutta

In which year was the Uttar Pradesh State Organic
Certification Agency established ?
(a) 2007 (b) 2011
(c) 2005 (d) 2013

42.

3.

38.

39.

40,

41.

Frafaftaa § & 357 15 37 vt f whafoa T8
o1, S §i1E Tereh g s AR Faen e
ST 3 fiyern fore oy o

(a) FeF o

(b) AL
(o) wiidt
(d) Ham
T T Fm F mew F ognag wRa HW
TR ST 3R ATTETE B o1 2

(a) <7 FwA

(b) ©ETHT

(c) <TS TS

@ wrs fam

T § aifae wRd 3 gfaa @0 F ged
Ay 6t srersardaras 6 oft 2

(a) TA.GH. Sl 55

(b) T AT

(c) ft T ;:r_

(d) wHT =i

T AR o we, St 9’ # e
o= farvafaraera & S=-forg & w0 & wm aman,
oAt g <y oft 2

(a) @t gEA=

(b) a1 TR faew

(c) Ted= -

(d) WeH HIEd ATy

TG T TR ey ST el o g

74646

a1 ? o
<t
(a) @TER I~
b) =g
(c) 9 E4@
(d) ereal E’%é'

for ad ® IT wewT USw Sifas wooftetor weidt
YT R 7S 2
(3) 2007
(c) 2005

(b)
(d)

2011
2013
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43.

44.

45.

46.

47.

48.

49.

Which cash crop is the major contributor to the
agriculture economy of Uttar Pradesh ?

(a) Maize (b) Cotton

(c) Sugarcane K (d) Wheat

“Operation Kayakalp’zgcheme launched in Uttar

Pradesh is related to : <t _
(a) Expanding univeigty infrastructure
(b) Revamping primfry schools

(c) Promoting skill-based education

(d) Improving higher education

In 2023 - 24, which state was the leading producer
of food grains in India ?

(a) Maharashtra

(b) Madhya Pradesh
(c) Uttar Pradesh
(d) Punjab g E%E
o) e
When was the Kisanggllra Yojana’ staned in
Uttar Pradesh ?

(a) 18 June, 2010
(c) 18 June, 2001

l‘rb) 18 August, 2001
(d) 18 August, 2010

Consider the following figures :
2 6 3 ?
80 24 120 | 36

What is the missing number ?
(a) 10 () 8
© 9 D@ 7

-
What was the Fiscal Hé%th Index of Uttar Pradesh
in the year 2022 - 23 9.7
(a) 45-9
(c) 350

(b) 370
(d) 479

Which of the following is an ocean current of the
Atlantic Ocean ? _

(a) Humboldt current (b) California current
(c) Alaska current (d) Benguela current

43.

44,

450

46.

47.

48.

49,

UNHSIV.-01
I W2Vt T snfeyaw # fa wwet A
TEEqU ATEH & ?
(a) AT (b) HIH
= @

I W A E T ANH FREFST DA

frod weifta 2 2

(a) Toreafaamea 3 g of@ = fmm e
i et & (rean

(c) rre-FraTiee fiver i sgram &7

(d) I== R d gun

I H 2023 - 24 ¥ FH-W1fTST Qren—pr

IeTEH 9T 2

(a) WERTE

(b) WA WRW

() ST

(@) g

SW YW # form it diear e e AT E 2

(a) 18,2010 (b) 18 37T, 2001

(c) 185, 2001 (d) 18 37T, 2010

H & s st w e fif

2 6 3 2

80 24 120 | 36
Ja T TR ?
(@) 10 (®) 8 —
) 9 (d) 7 %3.&7
af 2022 - 23 § IW WY F TR @R
i (Rheahct Reu 39 fraar o1 2
(a) 459 ®) 370
_e) 350 (d) 479

s & & - v aro sweaits e
HE?

(a) T=Ee uw
c) AR ¥y

(b) SHerefar uam
(d) SheE aw
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Whu::h one of the following states recorded the
mmum der;_:adal growth of urban population
during the period 2001 — 20117
(a) Maharashtra (b) Nagaland

(C) Kerala (d) Sikkim

Which of the following river originates from
Mansarovar in Tibet

5 o and passes through
Shipki La mountain pass 7

(a) Chenab (b) Beas

(¢) Ravi (d) Satlyj

The Brahma temple of Pushkar is in which of the
following states ?

(a) Rajasthan

(b) Uttar Pradesh

(¢) Gujarat ,
(d) Himachal Pradesh

Arrange the following states in ascending order on
the basis of percentage of Tribal population as per
Census 2011 :

I. Madhya Pradesh
II. Maharashtra

II. Rajasthan

IV. Meghalaya

Select the correct answer from the codes given

below :
(a) IV,LIL I
(¢) ILIILLIV

(b) ILIV,I,1
(d) I ILII IV

Which one of the following states was most
urbanised as per Census 20117
(a) Gujarat (b) Goa

(c) Tamil Nadu (d) Maharashtra

53.

54.

50. Frafafaa & osaY 2001 — 2011 B 3T F

A Tl STeEa ) siftrera qwa gie s 12

(a) weEwrg ‘.?,.‘ (b) TTTRVE
o)
(c) ¥ o (@) ffe
T‘.
s1. Frefofan § @ SR 59 fre § A &
Ixfire B fRreht o weTeh 2t & et ® 2
(3 WA= (b) ==
(c) TEh (d) Fags

52. Rt sren Hi fraffea | & fre oo A R R

5
(a) T
"cf)— IMRA
(c) TR A
(d) Ra=erRY <
=
2011 ST 3 g, Frefefaa oedt ST

ST SEEAT % Nfaerd S ST 9 FARE wE §
gty Hif : '

.  TEWRw

I Hewrsg

L. TN

V. ¥EeE g%%
e fo o e # @ Wt 3w =E Hifo

@ IV,LILI (b) HLIV,ILI
(¢) ILILLIV Eg (9 LILILIV
<
2011 ST SHTVRT F Arefafea & & F9-a1
T G AT i o ?
(a) T (b) TET

(c) witemTg (@ W
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55.

56.

57.

58.

Match List-1 with List-I1 and choose the correct
answer using the codes given below :

List-I I~ List-Il
Kushanas |l Devaputra
o O
Pulakeshin II =i Sakalottarapathanatha

Harshavardhana %:1. Dakshinapatheshwara
Samudragupta l‘; Kaviraj '

Codes :

(@) A-i, B-iii, C-ii, D-iv
(b) A-ii, B-i, C-iii, D-iv
() A-iii, B-iv, C-ii, D-i
(d) A-ii, B-iii, C-i, D-iv

e
s

Which of the following pairs is mor correctly
matched ?

(a) Ryotwari System ~ Madras

(b) Permanent Sett[eiment — Bengal

(c) Mahalwari System — North-West Provinces
(d) Taluqdari sysn@- Bombay (Mumbai)

For which of the folming rulers, is it said in the
‘Udaipur  Prashasti’ that “He achieved,
accomplished and made possible everything that
could not have been done by anyone else” ?

(a) Sindhuraj

(b) Vakpati Munja

(c) Mihira Bhoja

(d) Bhoja

Which of the follo kings stated that “All our
people should creat good deeds, free from all
disasters, enjoy the%y with minds unpolluted
with jealousy”? <

(a) Samudragupta M~

(b) Chandragupta Maurya

(c) Harshavardhana

56.

(d) Ashoka

57.

58.

UNHSIV.-01
55, geft-1 B g1 & e A of e Remy e
o ST <h Eet I A -
g1 -1l
A, FIO i S
B. qorhyd fadfta i, weiraeATS
c. wfadq iii. Zfomaevat
D. X< iv. SRSt
FE:

(@) A-i, B-iii, C-ii, D-iv

(b) A-ii, B-i, C-iii, D-iv

(c) A-iii, B-iv, C-ii, D-i

(d) A-ii, B-iii, C-i, D-iv

Frferfiad o & #t-ar gm wd gifea 78t 2 2
(a) FaarS! yorelt — TR

(b) T SEEw — S

(o)~ mETEraTEt FoTTett — InT-afvay € wia
(d) ey el - d=E ()

s & & fre e 3 R “sgage vt &
FET TR 5 T % o arar i we Fo
feram afi st <Y o Rt g v 9 B wa
ar ? )
(@) feryos
(b) arHfa
(c) Ffaw _
@ i =i
Frerferfias & & frm oo w5 & et w
SIS e 1 G et g, e Sl & g,
o1 & ST W & St e 2

(a) W

(b) == W

(c) Ty

(d) Imnsw
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59. Find the missing number 59. < HEA I Hifdre :
- e 7 4 6 7
A A / h \ A A /)\
(:}8655 e ® 3 3. RE 3
© 6 (b) 76 (a) 86 ®) 76
: @ 55 © 67 d) 55
[ 4
60. :: ;" COdfTﬂl?n“gua?e, “tob iso har” means ‘Tobacco | 60, LG T “Tflﬁ “tob iso har” & 314 ® ‘Tobacco is
habf:fm . 2v&har hab means *Avoid harmful harmful’, “4¢o har hab™ %7 31 ® *Avoid harmful
vy -ple‘avo tab” means ‘Please avoid habit’ c;:le avo tab” &1 31 ® ‘Please avoid
tobacco’. Which is the code used for ‘habit” ? tobacco® [\Eabit ¥ Rz 2 F——
(a) tob (b) hab 39 s - . Rk Gkl
(c) avo (d) har , ) . ™~ it &
a) to ab
(c) avo (d) har
61. ]13'1 8 qu:ue of boys, A is seventh from the lefl and | 61. sTeTeh <t U ufn #, Arft 3R & wrd &= 9T A T
inl:ch:;:h ﬂf;m'rn the right. u\;\?hen Aband B Tt 3 <Y T B AT} | 9 A T B A9
€ their positions, then A becomes ¥ a7
fifteenth from the left. Find the position of B from Wmm%;: gﬂm IS?':l'f bk
the right.
(@) 19th (®) 12th ) 1 ®) 12
(c) 20th (d) 17th (©) 203‘% (d) 173t
62. Find the value of x, if : 62. x aﬂmﬁ%ﬁﬁm afg
2®3=i], 2%3 ﬁ]
3*5=23, 3*§=23,
and x * 6 =41. TEx*6=41%|
(@ 6 (b) 4 (a) 6 (b) 4
d) 3 243 252
(€ 5 (d) =i © S d 3 253
63. Abagcontains¥5,¥2andT 1 coinsintheratioof | 63, Tw A TS T2awme 1l FfmF3-4-5%

3 - 4 : 5. The total value of all the coins is
% 2,100. How many coins of T 5 are there in the
bag ?

(a) 250

(b) 225

(c) 245

(d) 210

BRI R W g ©2,100 3 1 R d 5 H
Fﬁiﬁﬂé@?

(a) 250 <

® zzs';?_

(c) 245~

) 210


https://play.google.com/store/apps/details?id=com.xodo.pdf.reader

B4z

Made with Xodo PDF Reader and Editor
Made with Xodo PDF Reader and Editor

"14'

UNHSIV.-01

64‘

65.

66.

Match List-I with List-II and choose the correct
answer using the codes given below :

List-I List-IT
(Natural Source) (Acid)
A. Vinegar ’i; Methanoic acid
B. Tamarind D Lactic acid
C. Sour milk (curd) D Acetic acid
D. Nettle sting F{ Tartaric acid
Codes :

(@) A-iv, B-i, C-iii, D-ii

(b) A-iii, B-iv, C-ii, D-i

(c) A-_i: B-iﬁ,c-iv, D-ii el
(d) A-ii, B-iii, C-iv, D-i E'k

What is *Hydroponics’ ?

(a) Soil conservation |3

(b) Grafting a plant O

(c) Study of vegetables :d'

(d) Growing a plant withoyt soil
™~

Given below are two Statements, one is labelled as
Assertion (A) and other is labelled as
Reason (R).

Assertion (A) : In photosynthesis, the radiation
energy of sunlight is converted into chemical
energy and stored in food materials.

Reason (R) : The final product of photosynthesis
is glucose sugar, which séon turns into starch,
Select the correct answer 'gsing the codes given
below : <t

(a) Assertion (A) is falséBut Reason (R) is true.
(b) Both Assertion (A) aad Reason (R) are true
and Reason (R) is the correct explanation of
the Assertion (A).

Assertion (A) is true, but Reason (R) is false.
Both Assertion (A) and Reason (R) are true,
but Reason (R) is not the correct explanation

(©.
(d)

64.

of the Assertion (A).

65.

66.

1 1 -1 & g g A Ry
T ST S Y IR G :
-1

(3%7)
TRHTEF I
Afes 3t

(@) A-iv, B-i, C-iii, D-ii
A-iii, B-iv, C-ii, D-i

(c) A-i, B-iii, C-iv, D-ii

(d) A-ii, B-iii, C-iv, D-i

‘TR | 2

(a) TRTHTET

(b) et & e ST Ve

(c) wfesal T =TT FET

(d) o= fird & dar I

H‘. g
B

A R R e Y w R
AP (A) 3 qE Y FROT (R) FRTTETR |
HFA (4) : yFR-EE g ¥ v @
faferoor st Y T St & s T e
¥ dfaa s |
FRI (R) mmwaﬁmmr@n
WU &, 57t o wfter € wits (o) S e s 2
Al fo T 3 it e e el e T
(@) AFY (A) e B, T FROT (R) TR |
() I (A) st Fwor (R) 2Rt Ty # ok
:‘R"T(R),W(A)ﬁwaamm
|
(c) wﬁm(mmﬁ,wmmm?l
(d) st (A) i Fwor (R) 2Rt T & 06
- W (R), PR (A) St w@ = e 7@
FATR | '
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67. Whendid the Anti-Partition Movement begin with

1.

68.

69.

70.

a massive demonstration at the Town Hall,

"15° UNHSIV.-01
67. FEH & A T § uH fawne wedlH F @™
ferrem % forina & stidrem #ar wiow gom 2

Calcutta ?

(a) léth Oclober, 1905
(b) 7th August, 1905
(c) 16th August, 1905
(d) 5th August, 1905

On defeating whjch politician, did Subhas

Cha.nd:a Bose become the President of the Indian
National Congress ?

(a) C.Rajagopalachari

(b) Sardar Pate]

(c) Pattabhi Sitaramayya E%
(d) Jawaharlal Nehry e
Which of the following countries did not
recognize the Azad Hind Government ?

(a) Philippines (b) Indonesia

(c) TItaly (d) Germany

Match List-I with List-II and choose the correct
answer using the codes given below :

List-1 List-IT

A. Jat Rebellion i. 1554 AD,
B. Bundela Rebellion ii. 1672 A.D.
C. Satnami Rebellion iii. 1669 A.D.
D. Sikh Rebellion iv. 1675 A.D.
Codes : |

(a) A-i, B-ii, C-iv, D-iii

(b) A-ii, B-iv, C-i, D-iii

(c) A-iv, B-iii, C-ii, D-i

(d) A-iii, B-i, C-ii, D-iv

In which session of the Congress was the “Purna
Swaraj” resolution passed ?

(a) Madras session

(b) Lahore session

(c) Lucknow session

(d) Calcutta session

68.

69.

70.

71.

(a) 16 3, 1905
(by 7 37T, 1905 F
(c) 16 37TE, 1905 Ft
(d) 53T, 1905 =t

I 9= S fohw asar S ot weh iR

TS g F I Y 4 9
(a) . TeETTEET

(b) FERHRE s
() e O

(d) SETEE TEE tg

frefafaa & & fFa 2w P-amme s w@r =t
T 781 o 4t ?

(ay” feferdta (b) ERfmEr

(c) weeft (d) et

-1 1 g1 & ghfer s s e fag o e
T WA T W I G :

-1 -1
A. zRER 5 15548
B. waen fade & 1612¢
C. daar g {lir) 1669 %.
D. fawfasE - 1675%.
Te:
(a) A-i, B-ii, C-iv, D-iii
(b) A-ii, B-iv, C-i, D-iii
(¢) A-iv, B-iii, C-ii, D-i -
gy A-iii, B-i, C-ii, D-iv Eﬁ

Fig & frg Hﬁ%mﬁ"'ﬁ;ﬁtﬁr'aﬂmﬁm&a

g a? w
(a) WM Y f‘é
M) wERafEE &
(c) TS AftET=T
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72. Which fruit ranks first in India in terms of | 72. Wﬁﬁﬁmﬁmmﬂm. 21
production ? (a) qdtar b JIH
(a) Papaya (b) Mango () ET (d) e
(c) Guava (d) Banana
73.  ‘Kisan Call Centre’ was started by 73, ‘Fram FEE Eﬁi’!lﬁﬁ___éﬁm@
(a) NABARD ot |
(b) ICAR (aff =T
(c) State Agri@rural University (b) e I,
(d) Ministry (6F Agriculture and F . farafaneg
Welfare, G§§emment of India N (©) Wﬁ .
< Ad) it T R hedTor HATeTd, IR A
74.  Which of the following belongs to cash crops ? | 74, Freiferiaa & & i Tt HHe & Haitera & ?
I. Potato L a:n’eL
II. Rice 1I. L ic|
II1. Sugarcane . =
IV. Cotton Iv. 9™
V. Rapeseed V. T T (ER)
Select the corgect answer from the codes given Hro R e 3§ & v I F T A
(bjl‘“;; ¥ el (@) WL, IV3RV
a an
: I 3R m
(®) 1,11 and KD ®) i o
(c) I, II andﬁ . © LI Eié
(d) I MandIV 242 @ 1msfv
75. Match List-I with List-IT and choose the correct | 75. @-Iﬁ@-llﬂgﬂ%ﬁm A= ﬁqmag
answer using the codes given below : Wmﬁﬂﬁmﬁﬁq :
List-I List-II -1 gei-11
(Crops) (Diseases) (%) (}‘T )
A. Paddy i.  Wilt disease A HE : it
ii. Black Rust s A
2. :fhcat % u R::Rmus B. ﬁi i g
. Sugarcan iii.
D. Pigeon P% iv. Brown leaf spot E 1;:61: fll- Wﬁ:::; -
<1 . v,  HEH L[
Codes : N~ =

(a) A-iv, B-ii, C-iii, D-i
(b) A-i, B-iii, C-ii, D-iv
(c) A-iii, B-i, C-ii, D-iv
(d) A-ii, B-iii, C-iv, D-i

() A-iv, B-ii, C-iii, D-i
(b) A-i, B-iii, C-ii, D-iv
() A-iii, B-i, C-ii, D-iv
(d) A-ii, B-iii, C-iv, D-i

~~
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78.

9.
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Which of the followin
correctly matched ?

(a) Mineral oil-Petroleum
(b) Vegetable fats —
(¢) Mustard oil -
(d) Animal fats —

& pairs (Fat — Oil) is not

Phytostero]
Lubricant

Cholesterol
“Aqua Regia”
following ?

(a) HCI and HF

(b) Concentrated HCJ and Concentrated HNO,
(c) HCland HBr
(d) Concentrated HCI and Concentrated H,S0,

jI'he type of mirror used in the headlight of a car
18

IS a mixture of which of the

(a) Plane convex mirror
(b) Concave mirror
(¢) Plane mirror

(d) Convex mirror 248

G
Which of the following is not a luminous object ?
(a) Flame of candle

(b) Moon

(¢) Electric lamp

(d) Sun

The distance at which the average radius of Earth’s
orbit subtends an angle of 1 arc second, is known
as:
(2)
(b)
©
(d)

1 Fermi
1 astronomical unit
1 Parsec

1 light year

Which of the following is correct ?

90

(a) 1 metre=10 nanometre
19

(b) 1 metre =10 nanometre

9
(¢) 1 metre =10 nanometre

(d) None of the above

76.

77.

78.

79.

81.

Frfefigs gt (@ - don) # & S vl gl
TR

(a) Eﬁﬁ%ﬁ—@ﬁ"‘lﬂﬂ

(b) TS TET — R

(c) wEr — S

(d) Y TEANSRITRRS A

R X R i & e R & 2

(a) HCl

(b) % HCI 3T A= HNO, 4

(c) HCI3 HBr

(d) | HCI 3R | H,S0,

FR F dSATEE H 394 T s aret o &1 R
?:

(a) |HTS I F4T

(b) 3Fereret T

(c) GHae g

(d) WE’%
ﬁm%ﬁaﬁ@fn-mawﬁzaﬁ%?
(a) TR ERSaTeT

(b) <=

(c) Fogaem
@

e It o 9t qealt At e 1 sftwa s 1 o
IS T HI0T e el B, Faemer 2 -

(a) 1 Hf

(b) | TR
(©) 19@Ey

(d) 15:3:[&7% /
WO L

Fafafaa & aTas R

@ 17 =10" Fifiex

&) 1= 10" ¥l

(© 1= 10 Fnftex
(d) 3T 7 & A 7

=
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82.

Which of the following statements is/are correct in
the context of the Treaty of Lahore (1B46) 7

I The Maharaja left all his territories beyond
the river Satluj forever.
Il The Maharaja left his rights over all the

forts between the Satluj and Beas rivers in
favour of the Company.

Ill. The English army c?yld no longer pass
through the Sikh Statezt

Select the correct answer ﬁ-ok:? the codes given

below : \O

(2) Ouly I and InI =

(b) OnlyIandIl

(c) I,andIII

(d) Onlyl 242

M~

Match List-I with List-II an?_;:hoosc the correct
answer using the codes giveribelow :

List-f List-IT <t
A, Iqta . A pOI‘tIf?ﬁ
B. Mahrousa ii. Land under state
administration

C. Khalisa iii.
D. Shiq iv.

Land revenue

Protected town

Codes ;
(a) A-i, B-ii, C-iii, D-iv

(b) A-iii, B-i, C-iv, D-ij

(¢) A-ii, B-i, C-iv, D-iii

7464647

(d) A-iii, B-iv, C-ii, D-i

83.

‘

UNHSIV..qq

52, v 1 it (1846) F ek & Freafefe 33

[ HETST A Hags A4 3 U 3 W iy
wea ¥ feg s feu |

T ¥ ST it d ¥ T o

feam |

st &1 e R s § @ TE T wh

off |

et o e 52 7 A T I =TT Ao :

(a) &t 11 3T

111

(b) FEALIARM
(©) I I3l
(d) Fae1

-1 1 geft-11 & gifera ifng A= g
AT e I

G- T -1
A TRT i w9
B. melar i, ST SITHA o S0t iy
C. Wiferr i, .ore
D. i iv. wfmam

e :

L

(@) A-i, B-ii, C-iii, D-iv
(b) A-iii, B-i, C-iv, D-ii
(¢) A-ii, Bi, C-iv, D-iii

(d) A-iii, B-iv, C-ii, D-i
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87.

88.

89.

90.
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The phenomenon of “urban heat islands” refers | 84. &l FE Ao & aftger fraa gefifa g ?
to: (a) St IR H Fat
(a) Decreased energy consumption b FTaTor sht JAferRdr
(b) Increased tree cover il F 7yefror %?’i q &3t # Itftrs
(c) Higher temperature in urban areas than i (o e

nearby rural areas _ =
(d) Decreased temperature in urban areas i éﬁﬁwﬁgﬂ
Biofertilizers are - 85. JAF-IAGHE I~
(a) Organic manures (a) FTeS @TE
(b) Cultures of micro-organisms ) TEw-sfal T T (@)
(c) Green manures i E%'@ﬁ e
(d) None of the above EZ; mﬁ‘éaﬁ'ﬁ?ﬁ E‘k’
Which of the following states of India has higher m%mﬁ%mmﬁwﬁm
number of females than males ? ?"'ﬁﬁ A 8 ?
(a) Karnataka (b) Tamil Nadu (a) FAICH (b) ATy
(c) Kerala (d) West Bengal ©) W& (d) ufzm e
When was the first Mineral Policy announced in | 87. 3t WY 154 4 geedt Affer et vt A1 g
the State of Uttar Pradesh ? ot 7

(a) On December 29, 1999
(b) On December 29, 1996
(c) On December 29, 1997
(d) On December 29, 1998

Which website has been prepared to monitor the
financial activities of the State of Uttar Pradesh ?

(a) Arthashastra (b) Srishti
(c) NIC (d) Koshvani

Who is the author of the book “Zhe Population
Bomb" ?

(a) Malthus
(¢) Thompson
In which city is the ‘National Institute of
Agricultural Economics and Policy Research’

(b) Paul R. Ehrlich
(d) Donald Bogue

located ?

(a) Lucknow (b) New Delhi

(a) 29 fewmr, 1999%
oy 29 Fomw, 1996 Fia
(c) 29 femr, 1997 F
(d) 29 femwr, 1998 Fr

It Ry s i fasfia fraet it Frrft s & o
FH-E Faarge P A TR 2

(a) TdITA (b) gfE

(c) WIEH(NIC) (d) et

88.

89. 'Ev‘fgéman"mgma?%@r@a;ﬁ?%?

_i») W (@) i o R
(c) wmIad @) HTEE |
w0
90. Tt i rdaIreA G SrEH we frw
et fua g 2
(a) 9E@TS (b) % feestt
(c) &R (@) Td

(c) Hyderabad (d) Mumbai
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91.

92.

93.

Consider the following events and arrange them in
correct chronological order :

L Cabinet Mission

.  Cripps Mission

II.  Quit India Movement
IV. Mountbatten Plan

Select the correct answer from the codes given
below :
(a) L IIIIL IV
(b) ILIOLLIV
(¢) OLLILIV

EgE
(d) IV,L I, 11 E

Consider the following statements :

I. The first Muslim President of Indian
National Congress was Badruddin Tyabji.

Il. The first woman President of Indian
National Congress was Sarojini Naidu.

Which of the statements above is/are correct ?
(a) Neither I nor IT '

(b) OnlyII

(¢) BothlandII

(d) OnlyI

With reference to ‘Ajivika Sect’, which of the
following statements is/are correct ?

I. Ajivika sect followers mostly lived in forests.

II. This sect enjoyed great respect during the
Maurya era.

Select the correct answer from the codes given

below :

(a) Neither I nor Il

(b) Onlyll

(c) BothIandlIl

(d) Onlyl

92.

93.

"~ freffaa weRl o fRem i iR 3
Wﬁm@aﬁﬁq
L s

i1, forem firer

11, WA SISt AN
IV, WREHE AT

3 R e o 8 el 3w
(@) 110, MHLIV

@ 1,10, LIV

(¢) HILLILIV

@ IV,LILII

Freferfiad FyAt o femm Hifg
mmmn@ww%wﬁ
it sreTeEr 9 | @

11, nﬂﬁfﬁqmgumﬁutrgﬁ‘ﬁﬁ@
wfter avege ot | o

mﬁﬁaﬂ?-w@rmaﬁ%/%?

(@) FALIED

(b) FEAI

(c) I 3R 11 2T

'(%d)/ﬁﬁal

7464647

&Y gt

G

fifds dwerr F def o, fefafea & F
P/ T AR 2R 7

L SArofifersh s 3 et 5w L e 1
UL ¥ sra i1 i 3 et o e
’ﬁ%fi’t{ﬂQ?ﬁﬁmmmm@nﬁﬁu
(@ FMLIGN ,\_

(b) S 1L

(c) 13113t

(d) Fae]
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wi Il be at the
place of the Missing nm-nb‘:rt ?:‘n;bcr "
24| 2
613
@ 120 (b) 16
(c) 29 (d) 18

In a code language, ‘MISTAKE' is written as

"9765412" and ‘NAKED’ is written as ‘84123,
Then, in the same language, how will
‘INTIMATE’ be written ?

(a) 78698365

(b) 78579452

(¢) 79438163

(d) 897866145 253

In the following question, select the related word
pair from the given alternatives :

Tuberculosis : Lungs : : Typhoid : ?

(a) Brain (b) Intestine

(¢) Lungs (d) Kidney

Which one of the following figure is different from
the rest ?

& A v

The year 2036 will have the same calendar as that
of :

(a) 2009
(c) 2008

A

(b) 2007
(d) 2006

9s.

96.

917.

98,

Freferfaa fomr &, o e <0 & e w A
e At 7

(.
&
24| 2 <
w
~t
~
613
(a) 120 (b) 16 =~
(€) 29 (d) 18 5%

ferelt e w1 # ‘MISTAKE' %I ‘9765412" forat
ST & AR ‘NAKED® &1 ‘84123° forar s 2 1 at
‘INTIMATE’ =t 3t w7 % 33 ferar smomm 2

(a) 78698365
(b) 78579452
(c) 79438163
(d) 897866145

7464647

ﬁwﬁ-ﬁqamﬁ,f&qnqﬁwﬁﬁ%ﬁé&amgw
L
e - aﬂﬁ% 1 CIEHISS : ?

(a) wRa= (b) =ATa
(c) HS (d) FFH
Frefefian smepfedi & w9 v S A 2 2
(a) ® | A
i
\q-
(c) (d) ¥
I
o 2036 1 Fert ad &, S FE R
(a) 2009 =1 (b) 2007 @1
(c) 2008 =1 (d) 2006 T
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99. Which one of the following pairs is nor correctly

matched ?
(Mountain
Pas JQ (State)
(@) SinlLa % - Uttarakhand
(b) Nathu L:{ - Sikkim
() Zojila = Arunachal Pradesh
(d) ShipkiLa - Himachal Pradesh

100. ;Yela Mala’ is the name of which of the following
(a) Shevaroy Hills
(b) Garo Hills
(¢) Anaimalai Hills BgE
(d) Cardamom Hills Eﬁ
101. Which one of the following pairs (Tree — Area) is
not correctly knatched ?
(a) Sal —North-eastern parts of the Indian
< Peninsula
(b) Teak— \igstem part of the Indian Peninsula
(c) Deodar ™Nilgiri Hills
(d) Sundari — Sundarban Delta
102. Which of the following is a local storm of Bengal
and Assam, useful for tea and rice cultivation ?
(a) Karaburan
(b) Blossom shower
(c) Norwesters
(d) Mango shower

103. Which one of the following Union Territories of
India had the. highest literacy rate in 2011
Census? I
(a) Andamanind Nicobar Islands

'(b) Chandiga
(¢) Daman and Diu
(d) Lakshadweep

104. Plants that tolerate a wide range of temperatures
throughout the year, are called :

(a) Hekistothermal ~ (b) Eurythermal
(c) Microthermal (d) Stenothermal

99.

100.

101.

UNHSIV. g

e g A A R G T G T 8

@1=2)
TGS
faferrT
IrFoTTE Yo
femmae wew

(el 7T)
(a) fgaan -
(b) LT
() wwfEm -
(d) Frohtem

Freafirfiaa 2 fawer A7 Je e @ 2
(a) ﬁaﬁam

frafaflas gt (@& - &%) § & -9 & w6
gafra 7T 8 ?

(a) ETeT — AT T & Ie-geff T

(b) | — TREfT STt T afisdt ser

| (¢) ¥eR -l verfeat

102.

103.

104.

(d) Gt —gatam e

Freforfes & & S e qem sme 7 s i
oY F 9Tae S Gl F U enEEE 29

(a) A

(b) ST YiTET

(c) TTawd

(d))’ LUIRIEH &
2011 F ST o Wi % Frefefas S mie
ST F & firaehY rerar o Iean oft 2

(a) A R Fear foag

(b) ¥t

(c) TR

(d) e

9 it o wy¢ F e 3 e R frem 1w
ﬁﬁ?.%ﬂﬁ%:

(@) tFernta (b) Ffente

(c) TTgshrenter (d) ®refs
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105. Which agro-climatic zone in Uttar Pradesh is most

106.

107.

108.

109.

110.

111.
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?mlnet"able to climate ¢
in agriculture 2

(2) Western Plaip Zone
(b) Bundelkhang Zone

(c) Eastern Plain Zone

(d) Central Plajy Zone

hange impacts, panicu!arly

Ehe name of the scientist who proposed the
Ten Percent Rule” of energy is :
(@) Haeckel

(b) Lindeman
() Tansley

(d) Odum

Which one of the following is a landlocked
harbour ?
(a) Haldia

(b) Ennore
(¢) Mumbai

(d) Visakhapatnam

The “hydrological cycle’ is controlled by :

(@) Grasslands (b) Epiphytes
(¢) Lichens (d) Forests

According to Census 2011, which of the following
Union Territories has the highest population
density ?

(a)
(b)
(©)
(d)

Puducherry

Lakshadweep

Daman and Diu . o
Dadra and Nagar Haveli E%

What is the purpose of the “PRANA” portal ?
(a)
()

Industrial emissions control
Monitoring  the
Programme (NCAP)
Plastic waste managermnent
Water pollution monitoring

National Clean- Air
()
(d)

Which of the following states of India has the
highest density of population ?

(a) Uttar Pradesh (b) Bihar

(c) Madhya Pradesh  (d) Punjab

105.

106.

107.

108,

109.

110.

111.

UNHSIV.-01
I H AT FR-SAerary & STerary hEdd &
wrel, fadiue i & sfy ged aftes dagaeia
27
(a) ufiydt derh &
(b) HeeEvs &F
(c) T Aarh &
(d) wem Bt &
[
;ﬁ%mwﬁmm%*%&aﬁ%ﬂmmm
. -
(a) T (b) ferdi
(c) Fwet (d) 3irem
freafofas & & R & wesg @edEe)
ELUI A
(a) wfe=an (b) THER
() Y=g (d) forvmEmrs
et =e @ PP s E
) wTEE (b) ey
(c) Mg (d) ==
2011 R T 3 S, e E & P
m%wwmmmm%?
(a)
(b) =&
(c) saadT
(d) 2Tew T A
“PRANA" TI3eT o1 31 3991 & 2
(a) 3fefire Seast o
(b) T == arg FREHE (NCAP) Y Pt
(c) M sufite weuw .
(&) o vger Bt B
<t
W% G B - T Feran SEEn
A YT ST & 2
(@) ITOTE (p. faEn
(c) W Wy (d) g
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112. Which of the following is nor an Operating
System ?
(a) Microsoft Office (b) Linux
(c) Windows (d) Unix

113. Which one of the following Chola Kings
destroyed the Chera navy at Trivam%n and then
captured the Pandyan King ?
(a) Kulottunga
(b) Rajendra I
(c) Rajarajal
(d) Rajadhiraja

74646

114. A MAC (Media Access Control) address is
bits long.
(a) 128 (b) 48
(c) 64 (d) 32

115. The famous Battle of Haldighati bﬂ’%t'een Akbar
and Maharana Pratap was fought in Hoyear -
(a) 1576 A.D. (b) 1579 A,
_(c) 1597 A.D. (d) 1575 xrib

116. Who among the following assumed the titles of
“Yamin-ul-Khilafat” and  “Nasir-e-amir-ul-
Momineen” ?

(a) Alauddin Khalji

(b) Balban

(c) Firoz Shah Tughlaq
(d) Nasiruddin Mahmud

&

117. Intel Core i9 is a type of M~
(a) Processor (b) Mothetlidard
(c) Hard disk (d) None e above
<

118. The grand stupa of Amaravati was! Built by the

(a) Vakataka Dynasty
(b) Maurya dynasty
(c) Shunga dynasty

(d) Satavahana dynasty

ARt ETWW siftemr  (b) fomaw

© REs @ FF

eyt o & i et T 3 e % S
lls'ﬁwmﬁmﬁtmmmﬁmm

o1 ?

(a) FgT

(b) TR
(c) TSN 94H
(d) TS
114, o i (T R e @@ fazms
BT
(a) 128
(c) 64

(b) 48
@ 32 52
115, 3t STHRIION Td 3 Hea Wiig sediane) #1394
TR AT Y ;

(a) 1576%. (b) 1579%. 7

(c) 1597%.% (d) 157539

116. Ffafas & ¥ e <o sa-faamss it
AT Iet-Hf e 1 Sqifrat gror =
(a) aEH faersht

(b) werEq

(c) TRt e e

(d) T TEE

117. e T 9 T Yo 37 2
NEVIRILE: (b) wWetEE
(c) e femn (d) S & ¥ =g 7

118, JHUadt & wer Wy o fmiop T
T T o |
(a) STHTEH st
(b) ¥R T
(CRRLEL
(d) WTETEs TrE
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119. l\:v:;huch_ ;fdthe following critics used the :em; 119. Fr=fofea & & ffe streias I st srae sgaen
uasi-rederal” for the Indian system © * wunyef o5 =
L ian sy fé:ﬂg HHTeH ™ Y7o &1 wanT fahar 2
(a) B.R. Ambedkar N,
(b) Jawaharlal Nehry ®) N
(€) K.C.Wheare (c) FH.
(d) Laski (d) F’“‘*l.
!Distrﬂ.)utlion of Taxes between Centre and States | 120, Wﬁﬂﬁ@('ﬂaﬁ% e 3 1 faor AT e
in India is done by the - (a) w@e <t
(a) Parliament mﬁ%ﬁﬂ
(b) Planning Commission ®) e A
(c) National Development Council ©
(d) Finance Commission (d) fersr s
g;‘:zh among the following is nor a part of the | 121, f=feifas # & = T 37T 3 yITEERT Ofosz 57
ming Council of NIT] Aayog ?
. femm g ST 2 2
ernors of States ¥ 3
(b) C.h.ief Ministers of Delhi and Puducherry (a) :
() Litifmant Goverse of Andisms i (b) feeett ik ggat & qeg wsht
Nicobar Islands (c) feuH IR freprem groee % SAftede T
(d) All Chief Ministers of States (d) wl@qﬁﬂ@w
‘ ©
Among the following, whi i .
bty ¥ g, which one is the statutory | 122, ﬁqﬁfﬁﬂ?&ﬁ-ﬁ@ﬁmﬁﬂiw% 9
(a) Labour Commission gy 9
(b) NITI Aayog Q) Hife s
(c) Planning Commission OS] () s s
(d) Finance Commission E-%-‘ (d) forsw sy
:;iti'mation of National Income in India is done by | 123. Wg ﬂ‘l‘lﬁfm T T ATHTH HET e -
(a) Reserve Bank of India (@) i
(b) National Income Committee () 1 3wy
(¢) National Statistical Office ©) TR Fmafer
(d) Planning Commission (d) AT 9%%
< W
Who among the following was the first Indian to f=fafas
124, . s
be awarded the ‘Bharat Ratna’ ? Wﬁﬁf WA T | wr B AT W
(@) Nelson Mandela 5 b
(b) C. Rajagopalachari @) @ e
(b) H. TS

() Abdul Ghaffar Khan
(d) Pranab Mukherjee

(c) =TS TER @

(d) oI gt
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252 ~26° TWEHR ST Tog A
125. Which State Government has started the scheme | 125.

“Nivesh Mitra® 7 ?

() Maharashtra (@) TES

(b) Tamil Nadu (®)

(¢) Uttar Pradesh © I T B4

(d) Madhya Pradesh @ eq 9891 e

126.

127.

128.

129.

130.

What is the name of the third volume of
Akbarnama written by Abul Fazl ?

(a) Sipah-Abadi
(b) Sulh-i-Kul

(c) Manzil-Abadi
(d) Ain-e-Akbari

4647

{o)
Which state has the la&st economy in India ?
(a) Maharashtra

(b) Gujarat

(c) Uttar Pradesh

(d) Tamil Nadu

Before his death in 1539 A.D., whom did Baba
Guru Nanak choose as his successor ?

() Guru Angad

(b) Guru Namdev ';;

() Guru Arjan e

(d) Guru Tegh Baha@
~

How much were India’s foreign exchange reserves
at the end of December 2024 ?

(a) USD 653-97 Billion

(b) USD 629 Billion

(c) USD 6403 Billion

(d) USD 578 Billion

[

i"‘*‘.
Which among the folld’ﬁfing is the largest Stupa in
({®]
the world ?
(a) Bharhut Stupa
(b) Dhamek Stupa
(¢) Kesariya Stupa
(d) Sanchi Stupa

7464

126.

127.

128.

129.

130.

mﬁmwﬁmﬁmmm
FTAAR?

%ﬁma@mmmﬁ%?
(a)- WERTSE

(b) T

(c) EET(SI%?T

(d) Ty

1539 §. & 0 g & G, =& T T Y o
FnufrH et g 2

(a) &I

(b) TEATTRE

(c) TE 3T

(@ T aT SETR

ﬁmarzom%a‘aﬁwmﬁ%:ﬂgmﬁmm
19

(@) 65397 faferam sy <

(b) 629 fafora sy Srere

(©)- 640-3 farferam e Stere

(d) 578 farfera smfeh e
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Which one of the following is a correct match ? | 131. Frferfaa & @ s T wE gafera € 2
(a8 Sevagram Project — Vinoba Bhave (a) Hamm gigsET = f’é‘Fﬁiﬂ CIE]
(b) Grow More Food — Jawaharlal Nehru () IAUFFTIVRN - SEEE IS
Campaign e %
Co-operative — Mahatma Gandhi (c) weE=IiCar am:‘l% —  ETeHT Nty
Movement (d) TETIER E e AT
(d) EtawahPilot - Albert Myre qieT -
Project

Which of the following chemicals is used to hasten
ripening of fruits ?

(@) Indole-3-Butyric acid
(b) Malic hydrazide

(c) Cycocel

(d) Ethrel

&%

133. Consider the following statements with reference

134,

135.

to the 16th Finance Commission :

I. The Commission was constituted on 31st
December, 2024.

II. Shri Arvind Panagariya is its Chairman.

Which of the above statements is/are correct ?
(a) Neither I nor Il (b) Onlyll
(c) BothIandIl (d) Onlyl

The Destructive Insects and Pests Act (DIPA) was
passed in the year ;
(b) 1929

(a) 1957
(c) 1946 (d) 1914
Which of the following is mof a beneficial

insect ?
(2)
(b)
(c)
(d)

Helicoverpa armigera
Bombyx mori
Laccifer lacca

Apis mellifera

133.

132.

134.

135.

frefafea & @ s wae wat = st wwm &
e 2

() Fora-3-gRfw e

(b) At TgEETEe

(c) wEERE

[o) B

N~

15&ﬁamnﬁaﬁ'%ﬁﬁnﬁ—rﬁgawﬁqtﬁw
Hifvre

amna:rnaﬂ%w 2024 I AT AT |
IL. aﬁaqrﬁﬁ'qm%mw%m%
I7E B ¥ F-T18 T T R/ 2

(@ TALIAN (b) ¥l
(c) 13MTIISHT (d) Faa1

G

femmarerTtt iz 3k e arfufan (&am o) o
# i g |

(a) 1957 (b) 1929

(c) 1946 r-- (d) 1914

ﬁnﬁtfiaaﬁﬁamﬁ@mm?ﬁ\ﬂa‘?%o

(a) efcrtayf

(b) ifswga ™~

(c) aw gt

(d) fomaAferda
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136.

137.

138.

139.

Which of the following is the correct chronology
of the given events ?

(a) August Offer,Cabinet Mission Plan, Shimla

Conference, ps Mission

August  Offes Cri issi i
gus el Cripps Mission, Shimla

Conference, ({ﬁinct Mission Plan

Shimla ConferéElce, Cripps Mission, August

Offer, Cabinet Mission Plan

Shimla Conference, Cabinet Mission Plan,
August Offer, Cripps Mission

(b)
(©

d)

According to which Article of the Indian
Constitution, — *“No citizen shall, on grounds only
of religion, race, caste, sex, descent, place of birth,
residence or any of them, be ineligible for, or
discriminated against in respect
employment or oﬂ"cg under the State™ ?
(a) Article17 <3 (b) Article 15
(©) Article 16(2) $9 (d) Article 16(4)
Which of the following pairs is mot correctly
matched ?

of, any

M~
(Fundamental Rights)  (Articles)
(a) Rightto Freedom : Articles 19—-22
(b) Rightto Freedom : Articles 23 —24
of Religion
(¢) Cultural and : Articles 29 - 30
Educational
Rights
’ ! 1418
(d) Right to Eq m{! 50, : Articles

C
In which part of t.hcg)ndian Constitution, have the

provisions for electi been made ?
(@ PartXVII p~ (b) PartXV s
(c) Part XVI (d) Part XIV E‘;E

140. Who was the first speaker of the Lok Sabha ?

(a) G.V.Mavalankar (b) RaviRai
(c) * Mira Kumar (d) Balram Jakhar

139,

137.

138.

140,

e ~
UNHSI\;O
e o Y feq & @ AR & T TRy o
136. W%? ¥
) ‘sza varE, e R g .
@ - forem e
srea W, foewr e, firen Ty
(b) oy Frgr AT 1
(c) ﬁma'[ ﬂﬁaq_ m ﬁQT-T HATH mm‘
3Rryz free AT
(&) forwen W, Fe e dom, g

sy, forc farer
ey e 35 PR T3 % STTAW, - fi vy
Frara ar g & et off TR T F anf fi
+ft oo 47 98 & e H 7 TE Swar s
e arer ST e v e 2

(a) =% 17 (b) =T I5

() =T 16(2) (d) =T 16(4)

PreferRee & § F9-81 g9 Wl gafea 7T e
ifers AftrFR) (3777

(@) wodEaTH AUER ;AT 19-22

©) eifrEdama o w23 -24
iR

©n wegfyofcfimn : s=dz29-30
el Srftrapy

@ wmwmafer sk 14-18

=
[Of -

“Tﬁﬁwq%ﬁmmﬁﬁammwm
e 2
(@) wmr XVII (17) T

(b) WXV (15)%
© WXV (16)

@ wmxIv (¥

m“‘“%mm(vﬁmaﬁ?ﬁ?
) ¥ um (d) e STEE
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41, ‘ST 7 iyt yrez 2« 147. F0 AT MU | o 3 g Wes FrRT
(a) TR F RN R?
(b) Tt @ =i faggor
(@) gv=rmdt (b) ufUEES
(d) FeAmmf (c) TPETEF g
(d) mﬁﬁaﬁg
. Fefefen et e g Hew e af . | 148, FreafoRan & whvn v g vy
(a) R -y 27
(b) ¥ -_z= OR ™
E;; S — 3T (c) fafra E:; ;TE{CI'
= m 149. it e gt R 1 s care=r R
143.%ﬁqﬁﬁﬁqﬁtﬁ§aﬁ%mw-§w%: 9 ﬁs’rwm
(a) IO — Wy i
®) s s et
B5 St (d) mﬁﬁaﬁi%
@ g f g 150. ﬁm%féﬁﬁguﬁﬁmg@m%aiﬁa?ﬁ%:
. W= (a) w& <r
144, “SRD" T UTRr ¥1e% & foreim o we fawea @ e -
(3) SRR, AT @ 5=y
(b) eI, ATfaHTE G) s
(©) 3, e 151, Frefofea % & i w wafmart 797 2
(d) TEw, =T PoER LY
(b) YTt
145, Frerfefiaa wew faeim-gel & & g =1 = k) IR -
. @ wmiw £
(@) wel— g 152, Prefirfian 3 & -orfer ey et T
(b) o (a) F S0 FE
(c) afqwr—am (c) T ™ (@) =f
(d) fafa-foy
153, Fr=fofea 4 @ e
146. Frafiafiaa i & s foreim-gm & : 87 e
(a) TiE—emaa (a) &, =g, g, drem
(b) 379 — ot Ty (b) e, e, S, ¥
() aﬁ.-ﬁ;ﬂm—azﬁﬂ'ﬂf (c) Tﬁ“-"“l-m{.@-"h
@) e - (d) ¥, 3, Yebi, st
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B 30° INHSY g,
; o S o
i ' fep 3T FH FATE | A if «
154, STt 30 R e 8 e i | 160 pAURAS SET LY e
| I TR 7 i
(a) =R g (@ afeorrr
(b) e = 3= (b) W'ai“‘"'
(c) ST i 3= (©) T
(@ W vt (@ PR
155. ‘Rt et ;ﬁl A AT T A awEin F R | 161 W_mﬁﬁﬂ?—ﬁ?ﬂﬂﬁm%?
SYLFT IR ; 7T —
& (a)
(a) ﬁTT‘Tr: (b) eﬂ'{-@(
(b) gqﬁq (C) 3'5;-—-?92
(€) H¥E , - (d) e —F
@ Frm &
156. Tt 1 3fe & Yz w2 Y yewm fifv - 162, ‘a8 e T A | A & ez
4a) TIHT . (b) (a) AT
(c) weuufafea g (d) sruts (b) R
157. “arei & fog o v fi gfe F (c) 9%
7 = S P s
(a) o <rers aTeT - T
(b) TS & e A yfiy — v Iss.aﬁﬁfﬁgaﬁifm-mmmgqqﬁg:
(c) 9 HISH A aret — foamerdt (a) STl — Gref
(d) WETS & I wAet yifty — stfire (b) FufEHT — S
158, Tt 1 3fe & = w1 F wEH ey 91 qeaw (Z) mﬂm—w
Hhifsre : @ s
(a) YU, W, RIEAT, JAfvad . ..
(b) ¥, I9f, FEA X 164. srifeifiaa & § “aeaw yrse &1 wg7 Hfaw:
(c) &ftefl, aferreh, spEenfoorss, sifafog (a) e
(d) wea, fa, STl Eb; AT
“— c QFIIF{HH;
159. srdtfefiaa & & form fae & ot wedt 1 ad @) s
AGE? 165. Freifafaa wedi f & Fvmr e aga 22
(a) wziem, faf, Tam (a) &
(b) TTEd, @4, gfaEr (b) 3y
(c) wdm, g5u, @ (©) I3
(d) =died, ST, 394 (d) gy
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166. ;ﬁﬁ%ﬁﬁﬂaﬁqmmm-mﬁqﬁﬁw
?
(a) Wit 3R g s o gy 2|
(b) et it g 6wy i T R w1
(c) Ih U F woTER § T F offwor wiek oY
™|
(@) & I firgae wm Fwar g
167. FT R g F s =
(a) HATefirER ) AGF
(c) Fmeafonas (d) enzafe
168. Frferlaa & & vz a1 =z St
(a) AT i JTFETHL |
) THIdTETEAH T
(c) TEWIA SR @R
(d) FEzE=RTaT?

169. T[S AT 1 T4 HIfaIC :
(a) IR I TS BTA WA Y |
(b) & AW @I |
(c) IEderENfAduTsare|
(d) o€ TN &l Ut ATAT R |

170. Fr=feafaa & & e o 3 wdam = | yan 78t
gATR?
(a) O STt e & AT |
(b) T TE B e |
(c) T& ™ qHE TET &I | ==
(d) & g FH A | %?&

171. At Fr g A=

(a) qoTd (b) TR

(c) gfm (d) Ty
172. s A g A G TR

(a) ugeA (b) Hreitfiren
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